Ne1

1.Ecnu 6bl Bbl NpoYMTanu 3Ty CTaTbio, TO NOHSANM Obl, YTO B HEWM PACCMOTPEH PSAA HOBbIX
nporpamm.

2.0Hu npeanoxunu, 4tobbl Bonpoc 6bin 06CyxaeH Ha cnegytowem cobpaHum.

3.Kak xanb, 4TO Tbl MHe He noBepun.

4. PaboTtas Hag 3ToW NepeBodoM 3TOW CTaTbW, Bbl, O4EBUAHO, OOpATUNN BHUMAHUE Ha
0CODEHHOCTM aHIMMIACKOro si3blka Kak si3blka aHanUTUYeCKoro.

5. BbISsICHMNOCK, YTO aBTOPOM paboTbl NOSyYeHbl TONBKO NpeABapuUTENbHbIE AAHHbIE.

6. [Joknagyumk ckasan. 4To 6a3oBasi TeOpusi ITOro ABIEHMUS B OCHOBHOM COrfiacyeTcsi C
NPoBeAEHHBIM SKCMEPUMEHTOM.

7. Llenb gaHHon paboThl - AaTb cuctemaTnyeckoe onmcaHne abcontoTHO HOBbIX pa3paboTok B
aTon obnacTtu.

1. If you had read this article, you would have understood that a number of new programs is
considered in it.

2. They suggested the topic to be discussed at the next meeting.

3. | wish you had believed me.

4. Working on the translation of the article, you seem to have paid attention to the particularities
of the English language as the analytical language.

5. The author of this article was found out to have received only preliminary data.

It turned out, that only preliminary data had been obtained by the author of the work.

6. The speaker said that the fundamental theory of that phenomenon is mainly connected with
the experiments.

The speaker said that the fundamental theory of this phenomenon generally coordinates with
the experiment results.

7. The aim of this work is to make a systematical description of the absolutely new
developments in that area.



Ne2.

1. MI3BeCTHO, 4YTO 3TOT NOAX0A UCNONb3YETCS TONBKO B HEKOTOPLIX Cry4YasX.

2. OnncaHbl Npnbop 1 MeTogmka, KoTopble MOrn Obl ObITb NCNONBb30BaHbI 415 NPOBEAEHMNS
TOYHbIX NU3MEPEHWIA.

3 Kak »xanb, YTO Tbl HE CMOTI NMOMNTK C HAMW Ha NEKLUI0 3TOro U3BEeCTHOro cneuunanucral

4 .Ecnun 6bl y MeHs 6bino cBoboaHoe Bpems, s 6bl 06s13aTenbHO ¢ TO6OM BCTpETUNCSA BYEpa.
5.4 6bl xoTen, YToObl Bbl NPOCMOTPENN 3TN MaTepuarbl U BbIpasuny CBOK TOYKY 3pEHMSI.
6.CTyaeHT He oxuaan, 4YTo ero AoKnaz npocnyLaT C TakKUM MHTEPECOM.

7.CKopee BCero, aToT CEMUHaAp BCe-Taku COCTOUTCS.

1. This approach is known to be used only in certain cases.

It is known, that this approach is only used in special occasions.

The approach is known to be used in special occasions.

2. A device and a method, that could be used for holding measures, were described.
There is a description of the device and the methodology, that could be used for accurate
measuring.

3. | wish you had been able to go to the lecture of this famous specialist with us.

| wish you were able to go to the lecture of this famous specialist with us.

4. If | had had a free time, | would have surely met you yesterday.

5. I'd like you to look through these materials and express your point of view.

6 The student didn’t expect his report to be listened to with such an interest.

7. The seminar seems to take place.

Most likely this seminar will still take place.

The seminar is most likely to happen.



Ne3

1. No-BnanMoMy, CTyAeHT He 3HaeT 3TUX rpaMmaTUdecKnx npasun.

2. N3-3a LWyMHON OUCKYCCUN TOMNBbKO Mbl 3aMETUIK, Kak Npodyeccop Bbilles 13

ayautopuu.

3. MNonuums pasbiCkMBaeT BOPOB, YKPABLUMX OEHbIMN N3 N3BECTHOro 6aHka.

4. OH, 6bIBano, 4oNo3aHa 3acuXmBarncs 3a KOMNbIOTEPHBIMW UTPaMK U He ycnesan caenaTb
JoMallHee 3agaHue.

5. OH ckasan, 4To 3aMMeTCs 3TMM Ha creayoLlen Hegene.

6. A normkeH 3aBTpa BCTPETUTLCSA C HAM MOCIE 3aHATUN.

7. 3Han Gbl 51, YeM BCe 3TO 3aKOHUMTCSA, A Obl HUKOr4a He AaBan eMy HUKaKnx obeLLaHui.

1. Apparently, the student doesn't know these grammatical rules. (3enéHbii - 3TO 3HAYMT YTO

EXUK AyMaeT YTO Tak NPaBUbHO, EXXMK YMHbIN, N3 AMEPUKN)

The student doesn’t seem to know these grammatical rules.

2. Due to a noisy discussion, it were only we, who noticed the professor leave the lecture room.

Owing to a noisy discussion, we were the only ones, who noticed the professor to leave the

lecture hall.

Because of the loud discussion we were the only ones, who noticed the professor to leave the

lecture hall.

3. The police is looking for the thieves, who stole money from a famous bank.

4. He used to sit up very late playing video games, and thus did not have time for his homework.
He happened to ..

5. He said, he was going to take care of it the next week.

6. | have to meet him tomorrow after classes.

| should meet him tomorrow after classes.

7. Had | known the way it would finish, | would have never given him any promises.

If i knew how it was going to end,



Ne4.

1.[ekaH n npenogasaTenn, HECOMHEHHO, HUKOr4a ogobpAT Nponycka 3aHATUM
CTyOeHTaMMu..

2.Jltoan, Yenm aHrmMnCcKUin AocTaTouHO CBOOOAEH, UMEIOT BO3MOXKHOCTb YMTaTb KHUTU U
CTUXWN BENUKNX NUCaTENen n No3ToB B OpuUrMHarne.

3.4 yyBcTBOBAs. 4YTO NPUBNMXKaeTCH rposa.

4.MNpenogaBaTenb He HaLLen HX 04HOW OWKOKK B pedhepaTe CTydeHTa.

5 MNpe3ngeHTy KoMnaHum NpULLNoChk U3BUHUTLCA Nepes NapTHepaMm 3a HEBbINOSTHEHHbIE
obsasaTenbcTBa.

6. MHe Gbl He xOTenock nonaraTtbecsl Ha Ybe Obl TO HM ObiNo MHeHne. A Bbl XOTEN NPUHATL
pelueHne CaMOCTOSTENBHO.

7. Heyxenun BaM He NpeanoXunu npo4ectb XOTa O6bl HEKOTOPbIE MHTEPECHDBIE CTaTbW B 3TOM
XypHane?

1.0f course, the dean and the teachers never approve the absences of the students.
Apparently, the dean and the lecturers never approve students' absence from classes.
Deccan and lecturers are sure to never approve the absences of lectures from students.

2. People, whose English is fluent enough, have the opportunity to read books and poems of
great writers and poets in the original.

3. | felt the storm approaching.

4. The teacher did not find any mistakes in the student’s abstract.

5. The president of the company had to apologize to partlers for unfulfilled obligations
(nonfeasance).

6. | would not like to rely on anyone’s opinion. | would like to make a decision on my own. (I'd
rather make a decision on my own)

7. Weren’t you offered at least to read some interesting articles in this journal?

Can you have failed to be offered at least some interesting articles in this journal?



Ne5.

1. Pa3Be cTpaHHble SBNEeHUs He NPOUCXOAAT B KOCMOCE U Ha NOBEPXHOCTU HaLlen
nnaHeTbl?

2. OHM He BMAENUCh C TeX NOp, Kak OKOHYMIM YHUBEPCUTET B HaYane BOCbMUAECATbIX,
4. MNMpepnaraembli METO, HECOMHEHHO, JAaCT LOMONHUTENbHbIE BO3MOXHOCTMW..

5. UmenHHo TMN.J1. Yebbiwes B Poccun B 1882 roay nsobpen nepsbin apudmMomeTp,
BbIMOMHSAOLWMIA aBTOMaTUYECKN YMHOXEHNE N OeNneHmne.

6. £ ckasan poanTenam, YTO NX MHEHME MOMHOCTLIO MOBIIMANO Ha MOE peLLeHme.

7. Ecnu Bce dhakTopbl nponssoacTea 6binv 6bl NICNONb30BaHbI, 3KOHOMWKa Mora bl
3apaboTaTtb Ha NOSIHY0 MOLLHOCTb.

1. Can’t strange phenomena happen/occure/take place in the universe (space) and on the
surface of our planet.

Don't strange phenomena happen in space and on the surface of our planet?

2. They haven'’t seen each other since they graduated from the university in the early eighties.
4. The suggested method is sure to give the additional opportunities.

No doubt the suggested method will provide extra possibilities.

5. It was Chebyshev in Russia who invented the first arithmometer, that performed multiplication
and division automatically.

6. | told my parents that their opinion had fully influenced my decision.

7. If all the factors of production had been used, the economy would have worked at full
capacity.

If all manufacturing factors were used, the economy would be able to start working at full
capacity.



Ne6

I. N3BecTHO, 4TO B 1984 rogy CTtuBeH JleBn B CBOEW 3HAMEHUTOW KHUre «Xakepsbl. epoun
KOMMNbIOTEPHOW peBontoLmnmny chopMynmpoBan NPUHLKUMNBI XaKePCKON 3TUKMN.

2.Yem b6onee nonynsapeH ToBap, Tem 6ornee BbICOKYH LeHy Hago 3a Hero nnatuTb.

3. Okasanocb, 4To cCTaHAapTHasi U YacTo ynoTpebndemasa MeToamka cTpagaeTt psaom
CYyLLLEeCTBEHHbIX HEJOCTaTKOB.

4 Korpa Bbl y4MTeECh B YHUBEPCUTETE, BaM MPUXOAUTCS rOTOBUTb NMUCbMEHHbIE paboThl.
COCTaBNATb pe3toMe, aHanM3nMpoBaTb KHUMM, CTaTbW N NEKLMN.

5.Bbl HE CMOXKEeTe 3acTaBUTb MEHS MOBEPUTb, YTO OH CKasars BCO NpaBay.

6.JlekTop ckasan, 4To B fanbHeriwem 6yaeT nogvyepknBaTb pa3Hble CTOPOHbI 3TOM
npo6remsi.

7.Mpenogasatenb xoTen 6bl, YTOObI CTYAEHTbI ONpeaenum NCTOYHMKN CBOMX OLLIMBOK

1. Stiven Levi is known to have formulated the principles of hacker ethic in his famous book
called “Hackers. The Heroes of computer revolution” in 1984.

2.The more the product is popular the higher price should be paid.

3. It turned out that standard and frequently used technique suffer from a number of significant
shortcomings.

The standard and frequently used technique turned out to suffer from a range of significant
drawbacks.

4. While studying at the University, you have to prepare written works, compile the resume,
analyze books, articles and lectures.

5. You can’t make me believe that he told the whole truth.

You won't be able to make me believe, that he spoke the whole truth.k\

6. The lecturer said that he would emphasize different aspects of this problem later on.

7. The teacher would like the students to determine the sources of their mistakes.



Ne7.

1. HECOMHEHHO, 4TO NPU NOMOLLM 3TOr0 MEeToA4a MOXHO AOCTUYb H6OMNbLUOM TOYHOCTH
BbIYMCIIEHNNA.

2 'paMmaTUKa pyCCKOro sidblka 3HaYMTErbHO CMOXHEE rpamMMaTMKL aHrIMACKOrO.

3. UeMm nHtepecHee kHura, Tem GbICTpee oHa YnTaeTcs.

4 NnooeBponenckue A3blkM OTAMYAKOTCA ApYr OT Apyra, HO Y HUX , KaK N3BECTHO, eCTb
obLme KopHuU.

5 Ecnu 6bl Bbl perynsapHo noceLlanu nekumm aToro npogeccopa, Bbl 6bl caanu ak3ameH
nyyuwe.

6 Kak >anb, 4To cBegeHUs No 3TOMy BOMPOCY NOCTYNUNKN NO34HO.

7, Baw Hay4yHbIn pykoBoauTenb xoten 6bl, YTOObI Bbl NPOYSIM NOCNEOHIO CTaTbio 3TOro
aBTOpa W caenanu no Hewn coobLyeHune.

1. You are sure to reach a greater accuracy of computations with this method.

This method can be certainly used for increasing calculation accuracy.

? This method is certain to be used for increasing calculation accuracy.

2. The Russian language is much more difficult than the English one.

3. The more interesting the book is, the quicker we read it.

4. Indo-European languages are different (differs from one another), but they are known to have
common roots.

5. If you had attended this professor’s lectures regularly, you would have passed the exam
better.

6. | wish the information on this subject had come earlier.

7. Your scientific supervisor would like you to read the latest scientific article of this author and
make a report on it.



Ne8.

1. FOBOPAT, UTO YNOPHLIN TPYA - 3TO KIHOY K YCrexy.

2.AcnupaHT cKkasar, YTo AoMmKeH OyaeT BCTPETUTLCA CO CBOMM Hay4HbIM PyKOBOAUTENEM
Ha cnegylowlen Hegene.

3.XXenatenkbHo, 4TobbI Bbl ObINIM 34eChb B TpU Yaca gHS.

4. Ecnn 6bl y MeHs 6bino 6onblie cBO60AHOIO BpeMeHU. g Obl cTan y4nTb MHOCTPaHHbIE
A3bIKN.

5 HeT coMHeHus, 4TO NocneaHast KHUra 3Toro nucaTens NpuHeceT eMy U3BECTHOCTb.
6.MpenogaBatenb ckasan CTyAgeHTaMm, Y4To, n3yyasi MHOCTPaHHbIN A3blKk O4Y€Hb BaXKHO
NPOSABMUTL HE TONIbKO 3aMHTEPECOBAHHOCTL B NPEAMETE, HO U TEPMNEHME.

7 MNMpodeccop nog4epkHyn B CBOEM AOKNaAe, YTO NOCNeACTBUSA HOBOTO SIBNEHNS BPSA N
MOXHO Npeayragathb.

1. Hard work is said to be a way to success.

They say that a hard work is a key to success.

2. The postgraduate said that he would have to meet with his scientific supervisor

the following week.

The postgraduate said that he was to meet with his scientific supervizor the following week.
3. You are supposed to be here at three o’clock

You’d rather be here at three o’clock.

4. If | had more free time, I'd start to learn foreign languages.

5. The latest book of this author is certain to bring him fame.

6. The teacher told the students that learning a foreign language it is very important to show not
only an interest in the subject, but also a patience.

7. The professor emphasized in his report that the effects of the new phenomenon can hardly
be predicted.

The professor emphasized in his report, that the consequences of this new phenomenon are
unlikely to be predicted.



Ne9.

1. B npeancnosun roBopuiocCh, YTO TOYHbIE HAYKW YCMELLHO pa3BuIncb, BO MHOrom 6riarogaps
TEOPUM OTHOCUTENBHOCTN DUHLLTENHA.

2. Nony4yeHHble aKcnepyMeHTanbHble AaHHble cneayeT CPaBHUTb C AaHHbIMK, NpeackasaHHbIMU
TEOpEeTMNYECKU.

3. Okaszanochb, 4YTO 3TK ABa Noaxo4a mMarno oTnuyarTca Apyr OoT apyra.

4. Ecnn Obl 3TOT TEKCT coBMNagan ¢ ero TeMow, oH 6bl CnpaBuicsa C NepeBOaOM.

5. MNpexae Bcero, BaM crieayeT TWATeNbHO UccneaoBaTh 3TOT BONPOC.

6. OH OYeHb 3aHAT, HO, NO BCEN BEPOATHOCTU, MOMOXET BaM.

7. Ecnu Bbl ByaeTe genatb NOMETKU B KHUrax, 3TO MOMOXET BaM Ny4Lle NOHATb U 3anOMHUTb
NX cogepkaHue.

1. In the introduction it was stated, that the exact sciences had been successfully developing
mainly due to Einstein's theory of relativity.

/Isuccessfully developed, HET? 3aKOHYEHHOE OENCTBUE XKe

2. The received experimental data (experimental findings) should be compared with the data
predicted theoretically.

3. The two approaches turned out to differ not so much.

These two approaches turned out to differ little from each other.

4. If the text coincided (had coincided) with his topic, he would have managed to do the
translation (would have coped with the translation).

If this text had agreed with his theme, he would have coped with the translation.

5. First of all, you should research thoroughly this question.

First of all, you should examine this problem carefully.

6. He is very busy, but likely to help you.

7. If you make notes in books, it'll help you to understand and remember their content better.



Ne10.

1. Ecnu 6b1 yxxe 6bina paspabotaHa HoBas MeToauka, Bbl MOrMy Bbl NONb30BaTLCS €é
npenmyLecTsamu.

2. Bbino 6bl UHTEPECHO y3HaTb, 3aHMMaeTcsa Nu aTa nabopaTopusa nccnegoBaHMeM 3Town
npo6remsi.

3. Mo# Hayu4HbI pykoBOAUTENb HAacTanBaeT Ha TOM, YTOObI i NPUHAN yYacThe B €XeroaHon
Hay4YHOW KOHdepeHLMU.

4. [loknag4vk ckasan, 4To HOBOE OTKPbITUE 3TOW rpynmbl y4EeHbIX NpeacTaBnAeT cobom LeHHbIN
BKMNag B HayKy.

5. A 6bl npeanoyen BCTPETUTLCHA C BaMM NUYHO, a He obcyxxaaTb Bce NpobnemMbl No TenedoHy.
6. Mbl Hageemcs, 4YTO pe3ynbTaTbl, KOTOPbIE Mbl JOCTUIIIN, MOTYT CTaTb MHOroobeLLaLwumMm.
7. MNpe3naeHT ckasan, YTo Hayka AormkHa obecnevmBaTb BbICOKUIA YPOBEHb XXN3HM 06LLIECTBa.

1. If a new method had been developed we would have been able to use its advantages.

2. It might be interesting to know whether this laboratory works on this problem’s investigation.
It would be interesting to know if this laboratory is engaged in studying this problem.

3. My supervisor insists on my participating in this annual scientific conference.

4. Reporter said this scientists group’s invention (discovery) was a valuable scientific asset
(contribution).

The speaker claimed the new discovery of this scientists group to be a valuable contribution to
science.

5. I would like to meet you face to face instead of discussing all the problems over the phone.
| would prefer to meet you personally rather than discuss all problems by the phone (would
prefer + full infinitive + rather than + bare infinitive - rpammaTnyeckasa KoHTpyKkumMs, ee Hago
NPUMEHUTbL B 3TOM NpeasioxXeHun).

6. We hope the results we obtained can be promising.

We hope, that the achieved results can become promising.

7. The president said science should provide high living standard of society.



Ne11.

1. Mbl yumumcsa B ogHowm rpynne yxxe 6onee 4 neT u npuBbIKNM BCcerga nomoraTb Apyr
Aapyry.

2. OxunpaeTcs, YTo pesynbTaThbl 3TUX IKCNEePUMEHTOB ByayT BCkope onybrnnkoBaHbl.

3. B parioHe Tak HasbiBaemon CunumkoHoson JonuHbl B CLLUA pacnonoxeHo okono 800
KOMMNaHWI, 3aHMMaloLMXCa pa3paboTKoM HOBbIX TEXHOMOMMIA.

4. [MaBHasa NpyMYnHA YHUKaNbHOCTM KynbTypbl Benvkobputanumn, oueBnaHo, cBa3aHa c ee
ncTtopuen.

5. Ecnu 6b1 66110 AOCTUrHYTO cornalleHne 0 COBMECTHOM paboTe yyeHbIX ABYX CTpaH, TO
pesynbTaTbl 6N Obl 6onee 3Ha4YNTENBHBIMN.

6. Ecnu 6bl He npoBeAeHHbIE 3KCNEPUMEHTBI, Mbl Obl HE CMOMNN HaNMcaTb 3Ty CTaTbHO.

7. K coxxaneHuto runoTesa, Hag, KOTOpon Mbl paboTanu, okasanacb OLIMGOYHON.

1. We've been studying in the same group for more than 4 years and got used to always helping
each other.
2. Results of these experiments are expected to be published soon.
3. In so-called Silicon Valley in USA about 800 companies specialized in development of new
technologies are placed.
4. The major reason of Britain’s unique culture is obviously connected to its history.
The main reason of the originality of British culture is sure to be connected with its history.
5. Results would have been more significant if scientists from two countries had reached an
agreement for cooperative work.
6. But for the experiments held we wouldn’t have been able to write this article.
7. 1 wish the hypothesis we’d been working on was true.
Unfortunately the hypothesis we had been working on turned out to be wrong (mistaken).



Ne12.

1. NlekTop ckasan, 4To MaTemaTMka coBCceM He abCTpakTHasa Hayka.

2. Okasanocb, 4TO NoAxoA4 K Npobrneme 3TOro y4eHOro CUNbHO OTNNYaeTCcsa OT Hallero
nogxopaa.

3. He ctounT nepeuncnsaTtb BCe JOCTOMHCTBA M HEAOCTATKMN 3TOW paboThl.

4. Haw Hay4HbIN pyKOBOOUTEND HE BO3paXkaeT, YToObl Mbl HANMcann COBMECTHYIO CTaTbio.
5. Ecnu Gbl Bbl CKasann 0 CBOMX TPYAHOCTAX 3apaHee, Mbl MO 6bl BamM NOMOUYb.

6. K coxxaneHuto, n3-3a pasHornacust MHEHUI Npobnema Bce eLé He peLleHa.

7. Ecniv 6l He MOV Hay4HbI pyKoBOAUTESb, 4 Bbl HE CMOT NMPUHATL y4acTue B 3TON
MeXOyHapoa4HOW KOHdepeHuuu.

1. Lecturer said mathematics was not an abstract science at all.(!!'cornacoBaHue BpemeH)
2. This scientist’s approach to the problem turned out to be very different to our approach.
3. It's no use specifying all of the merits and demerits of this work (paper?).
4. Our scientific supervisor doesn’t mind we write an article together.
5. If you had said about your difficulties in advance, we could have helped you.
6. | wish there was no discordance of opinion and the problem was solved.
Because of disagreement the problem hasn’t been solved yet.
7. If it was not for my supervisor, | wouldn’t be able to participate in that international
conference.

But only for my supervisor | would be able ...



Ne13.

1. XKiopwn, AOMKHO BbITb, NPUCYANIIO yXXe BCE NpeEMUUN.

2. OHn paBHO obcyxaatoT aTy Npobnemy, HO eLle He MPULLIM K OKOHYaTENbHOMY PeLUEHUIO

3. Banbtep CKOTT cumTaeTcsa cosgatenem McTopmyeckoro poMmaHa.

4. Ecnv 6bl 9TOT CTYAEHT He nponyckan Tak MHOro 3aHATUIN MO aHrMIMNCKOMY A3blKy, TO cenvac
Obl y HEro He GbINO TPYAHOCTEN C caaYven aK3ameHa.

5. NpopaboTae uenbin eHb Hag pedhepaTom, OH YyBCTBOBa cebsi yCTaBLUMM.

6. XOTSa NpoLUno MHOro feT, Mbl Cpasy e y3Hanu apyr apyra.

7. KoHbepeHuus, AOMKHO BbiTb, 3aKOHYMNACh, Tak Kak y4aCTHUKN BbIXOOAT U3 34aHUS.

1. Jury must have already awarded all epy awards.

2. They have been discussing this problem for a long time, but haven’t come to the final
decision.

3 Walter Scott is considered to be the creator of historical novel.

4. If this student hadn’t missed so many lessons of english, he wouldn’t have any difficulties with
passing exam now.

5. Having worked on his report for the whole day, he felt tired.

6. Although many years passed, we have recognized each other at once.

7. Conference must have finished, because all members are leaving the building.



Ne14.

1. Ons Toro, 4To6bl COCTaBUTL NPOrpaMmy, NPOrpaMMUCT AOSMKEH BbiTb XOPOLUNM
MaTeMaTUKOM.

2. MoxeT 6bITb caenaHa ToNbKo oaHa pabovasi konus.

3. M3BecTHO, 4TO YenoBek NULET pykon npumepHo 30 COB B MUHYTY.

4. Ecnv 6bl Bbl NPOYnM PYKOBOACTBO, TO, BO3MOXHO, NOMY4Mnu BCIO HeO6Xoanumyto
MHopmMaLmIO.

5. CnepyeTt 6bITb 60Mnee To4YHbIM B ONpeaeneHnn CBoMX 3aaay U NnpuopuTeTOB.

6. imeHHOo cynepkomnbtoTep JIoMoHOCOB, 6€3yCNOBHO, BXOAMT B YACIO Hanbonee
3HaYUMbIX CYyNnepKOMMNbLIOTEPHBLIX YCTAHOBOK MUPa.

7. Pa3Be Bbl He 3Hanu, 4YTO 3Ta TeOpUst AAaBHO AoKa3aHa?

1. A programmer needs to be a good mathematician to code a program.

2. Just (Only) one working copy can (must) be made.

3. Itis known, a person writes with a hand (MmoxeT, nmenock B Bugy “pyykon”?) about 30 words
per minute.

A person is known to write with a hand about 30 word per minute.

4. If you had read manual you might obtained all the needed (necessary) information.
5. You should be more accurate with placing your goals and priorities.

6. It is Lomonosov supercomputer, that is obviously ranked among the most significant
supercomputing installations of the world.

7. Didn't you really know this theory had already been solved long time ago?

Can’t you've known that this theory had been proved long ago?

Could you have failed to know this theory to have been proved long ago?



Ne15.

1.Bbl, 4OMKHO BbITb, MOMHUTE Te 0BCTOATENbLCTBA, KOrAa Mbl BCTPETUNUCH BNepBble?

2. EABa OH KOHYMIT YnTaTb 3TY KHUTY, Kak GBubnunotekapb Nonpocun ee BEPHYTb.

3. A pymato, Bam criegosano torga U3BMHUTLCA nepes HUMMK.

4. PaHblue nogu cumtanm, yto CornHue BpalaeTcs BOKpyr 3emnu.

5. A xoten 6bl, 4TOGLI BbI AyManu 6onblue 0 6yaywem, 4em O NPOLLIIOM.

6. Ecnu Obl Bbl BCTPETUIN @HIMIMNCKYO KOPONEBY UMW aMePUKAHCKOro Npe3naeHTa, 4Tobbl
Bbl UM Cka3ann?

7.B 1895 rogy Anbdpen Hobenb cosgan cneumanbHbin POHA ANs HArPaXKaAeHNs yYEHbIX,
cAenaBLUMX BaXHble OTKPbITUS B HayKe.

1. You must remember the circumstances of our first meeting, are you?

2.Just as he had finished reading this book, the librarian asked to return it.

3. | think you should have apologized to them then.

4. People (were) used to think that the Sun goes around the Earth.

5. 1 would like you to think more about the future than the past.

6. If you met the English queen or the American president, what would you have asked them?
7. In 1895 Alfred Nobel established a special foundation to reward (award - npucyxgatb)
scientists who made important breakthroughs in science. (having made important discoveries in
science).



